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一、选择题：(5’×10=50’)

1. 下列等式成立的是（   ）
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二、填空题：(5’×5=25’)
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简单的三角恒等变换答案详解（2013-7-26）

一、选择题：1.D   2.C   3.B  4.D   5.B    6.C  7. D  8.  D  9.  C  10.  C  

二、填空题：11. cos
[image: image70.wmf]tan

q

  13. 
[image: image71.wmf]2

2

1

-

  14. 
[image: image72.wmf]3

2

p

  15. [image: image73.wmf]3


三、解答题：16.解：（1
[image: image74.wmf]()3sin(2)1cos2()

612

fxxx

pp

=-+--



 EMBED Equation.DSMT4  [image: image75.wmf]3sin(2)cos(2)1

66

xx

pp

=---+



[image: image76.wmf]31

2[sin(2)cos(2)]1

2626

xx

pp

=---+



 EMBED Equation.DSMT4  [image: image77.wmf]2sin[(2)]1

66

x

pp

=--+



 EMBED Equation.DSMT4  [image: image78.wmf]2sin(2)1

3

x

p

=-+

。（1∴函数
[image: image79.wmf]()

fx

的最小正周期为
[image: image80.wmf]2

2

T

p

p

==

.

    (2 当
[image: image81.wmf]()

fx

取最大值时，
[image: image82.wmf]sin(2)1

3

x

p

-=

，此时有
[image: image83.wmf]22

32

xk

pp

p

-=+

。
即
[image: image84.wmf]5

()

12

xkkZ

p

p

=+Î

，  ∴所求x的集合为
[image: image85.wmf]5

{|,}

12

xxkkZ

p

p

=+Î

。

17．解：（1）因为
[image: image86.wmf]a

a

a

p

a

p

cos

cos

2

cos

2

1

2

1

2

2

3

=

=

+

<

<

，所以

，

又因
[image: image87.wmf]2

sin

2

sin

cos

2

1

2

1

2

4

3

a

a

a

p

a

p

=

=

-

<

<

，所以

，所以，原式=
[image: image88.wmf]2

sin

a

。

（2）原式=
[image: image89.wmf]2

cos2cos2

2tancos2sincos

4444

aa

pppp

aaaa

-

=

æöæöæöæö

-----

ç÷ç÷ç÷ç÷

èøèøèøèø


=
[image: image90.wmf]1

2

cos

2

cos

2

2

sin

2

cos

=

=

÷

ø

ö

ç

è

æ

-

a

a

a

p

a

。

18.
[image: image91]。
[image: image92]，    
[image: image93]。
[image: image94]。

19.
[image: image95]

 EMBED Equation.2  [image: image96]

 EMBED Equation.2  [image: image97]
20.[image: image98.wmf]0

3

60,

2

  [image: image99.wmf]2

cos2coscos2sin12sin2sin

2222

BCAAA

AA

+

+=+=-+


           [image: image100.wmf]22

13

2sin2sin12(sin)

22222

AAA

=-+-=--+


           当[image: image101.wmf]1

sin

22

A

=

，即[image: image102.wmf]0

60

A

=

时，得[image: image103.wmf]max

3

(cos2cos)

22

BC

A

+

+=


21.解：[image: image104.wmf]sin3cos2sin()

2223

xxx

y

p

=+=+


     （1）当[image: image105.wmf]2

232

x

k

pp

p

+=+

，即[image: image106.wmf]4,

3

xkkZ

p

p

=+Î

时，[image: image107.wmf]y

取得最大值

     [image: image108.wmf]|4,

3

xxkkZ

p

p

ìü

=+Î

íý

îþ

为所求

（2）[image: image109.wmf]2sin()2sin2sin

232

xx

yyyx

p

p

=+¾¾¾¾¾®=¾¾¾¾¾¾¾®=

右

移

个

单

位

横

坐

标

缩

小

到

原

来

的

2

倍

3


[image: image110.wmf]sin

yx

¾¾¾¾¾¾¾®=

纵

坐

标

缩

小

到

原

来

的

2

倍


_1234567921.unknown

_1234567937.unknown

_1234567945.unknown

_1234567949.unknown

_1234567951.unknown

_1234567953.unknown

_1234567955.unknown

_1234567956.unknown

_1234567954.unknown

_1234567952.unknown

_1234567950.unknown

_1234567947.unknown

_1234567948.unknown

_1234567946.unknown

_1234567941.unknown

_1234567943.unknown

_1234567944.unknown

_1234567942.unknown

_1234567939.unknown

_1234567940.unknown

_1234567938.unknown

_1234567929.unknown

_1234567933.unknown

_1234567935.unknown

_1234567936.unknown

_1234567934.unknown

_1234567931.unknown

_1234567932.unknown

_1234567930.unknown

_1234567925.unknown

_1234567927.unknown

_1234567928.unknown

_1234567926.unknown

_1234567923.unknown

_1234567924.unknown

_1234567922.unknown

_1234567905.unknown

_1234567913.unknown

_1234567917.unknown

_1234567919.unknown

_1234567920.unknown

_1234567918.unknown

_1234567915.unknown

_1234567916.unknown

_1234567914.unknown

_1234567909.unknown

_1234567911.unknown

_1234567912.unknown

_1234567910.unknown

_1234567907.unknown

_1234567908.unknown

_1234567906.unknown

_1234567897.unknown

_1234567901.unknown

_1234567903.unknown

_1234567904.unknown

_1234567902.unknown

_1234567899.unknown

_1234567900.unknown

_1234567898.unknown

_1234567893.unknown

_1234567895.unknown

_1234567896.unknown

_1234567894.unknown

_1234567891.unknown

_1234567892.unknown

_1234567890.unknown

